Vz\/z v = AMf
[

p
S=S, cos(kx — mt)

= Power

Area
y =y, sin(kx — ot — )
p= %uwzymzv
AP = AP_sin(kx — ot)
AP =pveS
1
1= Ep(cosm )2 v

B=10 logIL , I, =10""W/nt

0

+
f’:f(V_VDJ
VIV,

P ?
=| 2y _cos— [sin| kx — ot ——
Y [y‘“ 2j ( 2j

A
AL = —¢
2n
A
AL =n— n=0,24,..
2
AL = n% n =1,3,5,...

AL =mA AL =(m+;—]k

f =2 X n=123,.
2L\ p
= n=123,..
2L
- n=135,.
n o 4L
y =2y sin kxcosmt
_AL T
L AT’
PV =nRT = NkT
solav o= N
V AT M N,
Q=mL . W =[Pdv
AN 1oy = [3RT
3V 2 M
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o2

lmV =§kBT, AU =nc, AT
2

Q=mcAT ,
AE. =Q-W, AE. =nc AT
C,-C, =R
TH — TC
L
Q=nc, AT, Q=nc,AT
PV” =constant , TV"" =constant

T

:Q:KA
t

F—%C+32 , K=C+273

W=Qu-Qr, 82&21—&
Qu Qy
T
&:_L’(K)Ref:&
Qh er
Khtea-pump =7 AS:IT
F:qulzq2 , F:qu
- ki
o= [ EdA, E=—]
Surface r
R r
0, = §E.dfﬁ =Ji
€9
E- %  g-9
2¢, €,

v=X w_oak=-aU
T

B
AV=V,-V, =-[Ed§=22
A qO
EXZ_G_V’E :_8_V’EZ:_8_V
ox’ ' oy oz
U kqlqz,czg ’ C0:80A
I, Vv d
C =4dre, ab , U==-CV?
b-a
u = lgoEz, C=xC,, E=—%,
2 K
vo Yo 129 poga
K dt

\Y L
R:—: —_
I pA

P=pPy [1+a(T'To)]> P=1IV
qt) = Ce[1 — e,

-t/RC

qt)=qo e
dE=id§xB, r=%
gqB
_ kL,
% ord

F=q(vxB), F=i(LxB)

~_hid§xf =PI
dB—47t 3 ,§B.ds—u01enc
— HOI ¢’ B=M0i’

47 R 27r

_ Mol

27 R?

N.. .
B, =u, (I)l =Ho 1

Surface
d
] , €=BLv
dt
VEV . Faf T TTTTTTTTTTTTTTTT

L .2
X—X, :Vot+5at

vi=vI+2ax —x,)

€0 =8.85 x 1072 C*/N.m’
k=9.0 x 10° N.m%/C?
ge=-1.6 x10"C
me=9.11x10?" kg

m, = 1.67 x 10?" kg
leV=1.6x10"7J
1cal=4.186 J, m= 10"
micro =10 , hano = 107,
pico=10"?

to =41 x 107 Wb/A. m
k=138 x 102 J/K

N4 = 6.02 x 10%molecules/mole
1 atm=1.013 x 10° N/m?
R =8.31 J/mol. K

Pi=m

g=9.8 m/s’

1 cal =4.186 Joule



